Roll Mo, . ;

a4 974 A 9 - 23 FRTT T TR
Total No, of Onestiorne - 23 [Trtad Yo of Prveest Pee=

4
—
r
-

(R

[.-242301-A
YAy AFTEH ThAT | Higher Secondary Examination

fawa . AT
Subject : Accountancy

q9Y ; 3 902) =)
Time : 3 Hours] [Mzodmam Marks © %0
arara B .-

General Instructions :-

(i) vyF-mdaaEdfaafaEad (@), @) E @)
Question paper is divided in three sections (A), (B) and (C).
(i) @ () Fof T AT AFEEY
All question of section (A) are compulsory.
(iii) @vE () vd (@) # & Ff f ' Gus e F
Solve any one section from section (B) and (C).
(iv) 9% @ug & gt At & 30 & € WA W ford 9m =ifzy

Write all answers of each section in same place.

(v) Fftran wisg Wi 1 3eod fad daifas oeit & g b
Maximum word limit is only for the theoretical question.
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e - (3)
Section - (A)
Tt S T HEf % Ry i)

(Partnership Firms and Company Accounting)

iy @ Foft T A A I s FHiF 1 R 6TH
aﬁragaaﬂzrmtl TS I 1T | 3iF Pufia & &+

T HIIW 1 T3 4T | w&h%wa@ﬁumtﬁm

Instruction: All question of Section - (A) are compulsory.
Very short answer is up to question no. 1 to 6. Each
question is of 1 mark. Give answer of the question in I
word or in 1 sentence and objective type questions are

also there.
T8 I
Objective Type Question:
U-1  EEACRT HAE & AW T GIRTRI @ K0T I 1o il T gelt (1)
L
(31 10% arfds (@) 8% ATh
@ 5% TS @) 6% i
In the absence of partnership deed the interest on loan of
the partners is payable at-
(a) 10%pa (b) 8%p.a
(c) 5%pa (d) 6%p.a.

L-242301-A
HHRMIRTRIDHIN  20ne
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(3)
WA-2  ETRRRT SR R T e S e T S & e I
(2 .
(3 =
(¥ U=
)
(®) W IFAE B FH T NN Ima @ A
The ratio of sacrifice made by the partnership to the total

gain is-
(a) More
(b) Equal
(c¢) Less
(d) Sacrificing ratio is less and gaining ratio is more

TE-3  FHUGE WA F YaH 6 Fa adt & ]
() dF9E @) 3. 9% |
® @ @ Fitew
The interest on debenture is paid on-
(a) Three months (b) Six months
(c) One year (d) Any time

T4 et e yar i afa & [1]
Goodwill is what type of assets?

A5 HOH T F e o B T g 2 B
Which is the most important document of the company?

U6 U T [
What is Debentures?

- P.T.O.
B HTHIEINORITIR 2oaes -
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wE-8

Fader, W It 7 R 10t e It e R welten W WL
3 ot Fraifter e o vyt wng ¥ so visg &

Instruction: Question No. 7 to 10 are shott answer typo
questions. Bach question carries 3 marks. Maximum
woni-limit of answer is S0 wonds,

q w)-eht TRftwfRt & R i e wol A s wevr

w w &7 B T Hor 7oy
Write three circumstances that any partner can retire
from the firm.

s ey e areht et e aaf & 72000 (e )
wvafe o YO A A 100 §, AT Qolew awar i
frifirr Rk |

oft fafat i, af sia Frifir R 6w v et
* yr e & S S Ry

A Ltd. company purchased assets worth Rs. 72000 from
Vikram traders. As a consideration of the purchased
assets, company issued fully paid equity shares of Rs, 100
cach. ,

Pass necessary Journal entries in the book of the company
if the shares are issued at par.

whr fafires 3 o wefi= 1,00,000 %, 3 g 3w & wrdiar aur
& WA & 100 3. ARY 10% worea fifea e
ferfiy. i et 3 e et sfafdat g

Goura Ltd. bought a machine from Sumer Traders at
Rs. 1,00,000. Purchase consideration was paid by
issuing 10% debentures of Rs. 100 each. Pass Journal
entrics in the books of Goura Ltd.

M

M

i3

el 11111 10T T
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W10 S et 10 8 A1l 24 aoan v o P @ WA 28 I-‘-I

w-11

MG 4 & forg A, At st & 1 6 sfiCuwn Al o
28, AR AR A 6D Hetorn) Y v qrenl & ot S TR L)
ol forn st & moer & eveifere aaner ufafeut fifag

Arti had 25 equity sharex of Ry 10 cach on which he paid
Rs. 2 on application but couldn’t pay Rs. 3 on allotment
and Rs, 2 on first call Directors after first call forfeited
the shares. Pass journal entries related to forfeiture.

. W iR 11 G 12 @Y To0q T &) 9l 9 9
4 3t fifva ) YRF v W i e ¥

Instruction: Question No. 11 and 12 are short answer type
questions. Each question carries 4 marks. Each question
has an intemal choice.

ST I B & TR T wwEr (@ 9w 14141+
Explain the causes of creation of Goodwill. (any four) 1=4)
N
OR

Sy A oEr R @ At e @ Eh R [242=4)

fafrit Y W

What are the different methods of valuation of goodwill?
Explain any two.

oA BIIDIE D IR 2enos RO
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WH-12 o, T AN T g o A arien R St emveR R 242

5:3:2 % IV & T & A Gt Fw: 30,000 %,

20,000 ¥ 4T 10,000 ¥. #h & 2015 & (St W AT 8%

T & TWH W 10% Tf¥s T & He2 famr mar am 7R

FuR & fore snawas quraem fafe g

A, B and C are partners in a firm sharing profit and losses

in the ratio of 5:3:2. Their capital were Rs. 30,000,

Rs. 20,000 and Rs. 10,000 respectively. For the year 2015,
interest on capital was credited to them @10% p.a. instead

of 8% p.a Pass the necessary adjustment entry for

rectification of the error.
YT

OR
77, <ufr R gut arger & < anwt w2200 &
Jled & S G FT: 10,000 7., 8,000 %, 3K 6,000, 3

T4 & Jifow @ 1 A1 & 9wE 19 g o Gt w5,
e ST BIFRRT & Uit @I 7 ez 7 far mr S o
AT G I 341 77 o FagT aee & W W 3% fvew
TN % T 3§ 3y F AR AR & ot g
fae 71 #fez F wEifaa fHd 93 g gfafd fiftg

Yash, Rashi and Khushi are partners, their profit and loss
ratio is 2:2:1, their capital were Rs. 10,000, Rs. 8,000 and
Rs. 6,000 respectively. At the end of the year they came
to know that interest on capital was not credited @ 5%
p.a. which was to be allowed as per agreement. Instead of
altering the signed balance sheet it was decided to make
an adjustment entry in the capital account of partners at
the beginning of next year. Give necessary journal entries.

el 1111 11 1711 et
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P s ams 137 15 AT T s A TS T W
6 3% Patfra ¥ v=rF g3 7 wiAfrF faweT f

Instruction: Question No. 13 to 15 are long answer type
questions. Each question carries 6 marks. Each question
has an intemnal choice.

qv-13  aw frfE Furht 3 20 5 A 10,000 Fw Frifaa e 141414+
R IFRT R - 105 FATF T, 55 FEARIMT  1+1+1
5 3, Wi 39 =T T 400 FI F (U oF aRF F =T =6
Lokesh Ltd. Co. issued 10,000 shares of Rs. 20 each

amount payable Rs. 10 on application, Rs. 5 on allotment
and remaining amount Rs. 5 on call. Share holders of 400
share failed to pay call amount. Pass Journal entry in the

books of the company.
RYIT
OR

ey wo FeE Y 20 7. A1 10,000 3 feffea fah anit
Jint F g AT T & R 37 W oAl 3§ YER 3T -
5%, AR W, 10 ¥ AEeT W, § ¥, I R 3 #7 frhm
o fear mam aft oftwf ww & 1) Smawe e fafdat

LR

Neeta and Co. issued 10,000 shares @ Rs. 20 each.
Application received for all shares payable as Rs. 5 on
application, Rs. 10 on Allotment and Rs. 5 on call. All the

calls amount received. Pass necessary journal entries.

B ML TR ORI 2ener e
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14 RS AT O i e 1 9l 2015 IR »

ET: 25,000 5, 39K 20,000 . o 3R {5t v 8% o

O s T e & T I SR T 12% TS AT

e & B 1 g 2015 Y 10,000 % T B HTHE

3 R 47 5,000 & TN Ao it SR ¥ I IR

W ST FEE: 600 F. T 500 ¥ o0 wm 31 R 2015

%t T T FT AW TR FHRSA $ [ 25,000 €. o T

2015 F1 s-g1R s @ Ry

Nibha and Ranjana are partners in a firm whose capital on
1 January 2015 were Rs. 25,000 and Rs. 20,000

respectively. They are allowed interest on capital @8%
p.a. and interest on drawing is charged @ 12% p.a. Nibha
gave Rs. 10,000 to the firm as a loan on 1* July 2015.
Ranjana 1s entitled to get an annual salary of Rs. 5,000.
Interest charged on their drawings were Rs. 600 and Rs.
500 respectively. The profit for the year ended on 31%
December 2015 before making above adjustment was

Rs. 25,000. Prepare profit and loss appropriation A/c for
2015.

AT
OR

‘I 3N T TF FH | AR ;S em-nfy #7 R 302
o e & A IS S 50,000 %. 31 30,000 %, & st o
6% HY FEF LY A A 1 77 791 T Y a5
¥ 8 2500 %. i a8 27 & ad 2020 F o $oft wo s &
Frafor & vedt W T W A BEey § a & ofy

itmtan 111111111 (1 | et
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12,500 %, 75t & v waey o Y afdy &1 5% W FvE
FmimaEAFFFar It R ATy
o = Frenysrr |gmar T

A and B are partners in the ratio of 3:2 with capital of
Rs. 50,000 and Rs. 30,000 respectively on which interest
is payable @ 6% p.a. ‘B’ is entitled to a salary of Rs. 2,500
p-a. Profit for the year 2020 before allowing interest on
capital but after charging ‘B’ salary was Rs. 12,500. The
manager is entitled to a 5% commission on profit (before
charging such commission).

Prepare profit and loss appropriation A/c.

q¥-15  OF 3N TR & T § aRIR 2 A 32 Ay @ 6]
s, I g R wrd
famr
(31 = 2011 #)

IS e W s
TR 25,000 | THZ AT 5,000
o R 25,000
W 80,000 (-) TEUF 5,000 | 20,000
SR 35,000 | 1,15,000 | &Y 35,000

™ 45,000
] 35,000
1,40,000 1,40,000

L-242301- " T.
- HIHIRIRINAIR  tees e
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| Al 2012 F = Al WM & 1/4 W E o

IR T

(1) WA FT 15,000 §. § TG )

(2) T H T 10,000 & A 9T R

(3) TR T I F0T F Rk WU 102 & w0 T
(4) T 20,000 &. BT & M

e

Ram and Balram are partners in a firm and profit sharing
ratio is 3:2 balance sheet is as under

Balance Sheet
(ason 31.12.2011)

Liabilities Amount Assets Amount
Creditors 25,000 | Cash Balance 5,000
Capital A/c. Debtors 25,000
Ram 80,000 (-) Provisions 5,000 20,000
Balram 35,000 | 1,15,000

- | Stock 35,000
Machinery 45,000

Building 35,000

1,40,000 1,40,000

On 1 Jan. 2012, Shyam was admitted for 1/4 part on
following condition.

(1) Value of building is to be increased by Rs. 15,000
(2) Cost of machinery to be reduced by Rs. 10,000
(3) Provisions for debtors to be maintained 10%,

(4) Shyam will bning Rs. 20,000 for goodwill.
Prepare Revaluation A/c,

a7
OR

1-A
24250 M NNUENI a0
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X Y 3.1 FamEr d 31 famr 2014 FY 3 R

Frefafiaa &

AT Tt gt T
RGN 10,000 | 3reor 16,000
kSl == 20,000
X 30,000 = = 2.000
Y 10,000 | 40,000 [ waT 24,000
& ot 12,000

62,800 62,800
F19EG, 2014 R ZHR A wRTRA L
() 2R FTaT10,000 % 3m AR EH F Wit AT AR
1/5 ¥ & o1 8,000 5. &nfa 3 3m
(i) TR T FHTECH T 10% & FH F1 & HR J9H
T & foIg 5% @ fafa &1 g famar smem
(i) 9 T T 20% & TETAT IR
et g e

X and Y were partners in the ratio of 3:1. Their Balance

Sheet on 31* December 2014 was as follows:

Liabilities | Amount | Assets | Amount
Creditors 10,000 | Debtors 16,000
Capital A/c. Stock 20,000
X 30,000 Furniture 2,000

1Y 10,000 40,000 | Building 24,000
B/P 12,000
62,000 62,000

L~-242301-A

MBI ITHIREI 2o
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a¥3-16

They admitted Z on 1* January 2014 on the following
conditions.

(i) Z should bring Rs. 10,000 as capital for 1/5" share.
(i) Z should bring goodwill Rs. 8,000.

(i11) Reduce furniture and stock at 10%

(iv) Reserve for Bad debts at 5%

(v) Increase building by 20%

Prepare Revaluation account.

73 v w16 WE 17 H&ATRTE T 8 TAF V9T I 8
3% fFratha & Qs v w iaie e R

Instruction: Question No. 16 to 17 are numerical questions.
Each question cammes 8 marks. Each question has an
internal choice.

T S e o & arger & i 3:1 & s i @
Tt &1 frem #xa & 313 31 R 2015 A wrgerd
T A 1 vy famm S5 snfde fafd v yar ot -

T qiar gt T
SRR 2,700 | SH A UFE 3,000
|7 99g 3,000 | Z9eR 1,000
e T HOT 3,000 | =UE 19,700
k3 viaq 9,000
e 12,000
e 12,000 | 24,000

32,700 32,700

8]

n (111111111 [11]] | IR
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weafert & Py aseh 73 - 2921 900 5. <792 18,000 3.
4T WA 7,200 5. 7T ¥ et e & 2,600 ¥, fearmAm
ageft 71 500 5. 70) Tl @ 7 arerd w1 e @
RN

Radhe and Mohan are partners in a firm who share profit
and losses in the ratio of 3: 1. They decided to dissolve
the firm on 31* December 2015 Their balance sheet was

as follows.

Liabilities Amount Assets Amount
Creditors 2,700 | Cash at Bank 3,000
General Reserve 3,000 | Debtors 1,000
Mohan’s loan 3,000 | Plant 19,700
Capital Building 9,000
Radhe 12,000
Mohan 12,000 24,000

32,700 32,700
Assets were realized as under:

Debtors Rs. 900, plant Rs. 18,000, Building Rs. 7,200,
creditors were paid Rs. 2,600 in full settiement.
Dissolution expenses amount to Rs. 500.

Prepare Realization A/c and partners capital A/c.

Haqr
OR

1~242301-A

LT LT
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N S —— T L LGB )
6 RV 2:2:1 % ST A A 1 31,12.2018 6 FH

fovgr ¥ yam -

B ah Y i

REnG 24,000 | 0% 12,000

W €9 10,000 | 2T 16,000

& H9q(-) S00 | 15,500

fw 30,000 &Y 15,000

fwm 24,000 I 19,000

Rt 12,000 | 66,000 | vaT 38,500
1,00,000 1,00,000

va ffe w3 i & warem w Fole forem et ¥ g
ST A B8 - 27T 14,700 F., T 14,000 ¥, Ffeg
18,000 ., Wa 41,500 ¥. ST H} YoF T 3 23,000 %,
2 i et & 52 1,000 5. FHERY RN TGN @ T
wreerd @ Joft wmr ay

Vivek, Vikash and Vishal are partners in a firm and share
profit and loss in ratio of 2:2:1. Balance shect as on
31.12.2018 is as under

2301-A
i N THIWIRINNIB  1one
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"~ Linbilities | Amount [ Assets | Amount |
Croditors | 24000([Cash | 12,000]
"Generl Reserve | 10,000 | Debtors 16,000 |
Capial Ale. | | () Reserve 500 | 15,500
Vivek 30,000 [ Stock 15,000
Vikash 24,000 [ Furniture 19,000
Vishal 12,000 66,000 | Building 38,500
1,00,000 1,00,000

Firm dissolved on the above date. Assets realized as
under Debtors Rs. 14,700, Stock Rs. 14,000, Fumniture
Rs. 18,000, Building Rs. 41,500 creditors settled at
Rs. 23,000 Realization Exp. Rs. 1,000.

Prepare realization A/c. & partners capital A/c.

aw-17  TRTRAIRRE Y 100 5. A1 1000, 8% worex Feifter fe [1+1+1+
1+1+1+1
+1=8]

HRATT T 10 F., AEA W20 ¥., TUH I W40 ¥, J90
ST QAT W 30 ¥, WRY sworgsy 6t 20 & oty atdt wefh it
vt e ST Y i) bt o R o ot iR
R

Rashi Ltd. Issued 1000, 8% debentures of Rs. 100 each,
amount payable Rs. 10 on application, Rs. 20 on

e 111 111 111 mo
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allotment, Rs. 40 on first call and Rs. 30 on final call.

All amount were duly received. Pass entrics in the books
of company.
< L LI
OR

Fu fafis 3 100 7. a1 10,000 3w Frffva frd
30 %, AT |, 40 ¥, AT T, 10 ¥, TR e 9 aof
20 %, i qraan w27 & vt afivat aurer g Ry )
e A g § snaws vl viafeat fifig

Vansh Ltd. issued 10,000 shares of Rs. 100 each. Amount
payable as Rs. 30 on application, Rs. 40 on allotment,
Rs. 10 on first call and Rs. 20 on final call. All the amount
were received in time. Pass necessary Journal entries in
the books of the company. '

1-A
e HDHMTITUROINR ronse
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BqE - ()
Section - (B)

(ahra font &1 o)

(Analysis of Financial Statement)

Frar. S i 18 07 19 Hfar o I 5 & I4H A
w1 3% Puffa d

Instruction: Question No. 18 and 19 are very short answer
type questions. Each question carries 1 mark.

wd e gRT:
Choose the correct option:

avR-18  U%e Yo e 3 fr s & AR fraar &2 1

' () @ @

@) WK @ whfiwza
How many type cash flow statement can be prepared?
(@) 1 (b) 2
(c) 4 (d) Any type

WR-19  F A, Tt Faa & v et @t )
Where is total cost equal total sales? '

R T 20 R 22 T A TR I A RS TR
4 3w Fraife & Y& T W Aol fawe b

Instruction: Question No. 20 to 22 are short answer type
questions. Each question carries 4 marks. Each question
has an intemal choice.

e DT 1]
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W¥A-20 e TS & ATOR R HAred R @ dwg yare £

ot $iferg -

Taaor 31-03-2007 | 31-03-2008
an-wla @ 1,20,000] 1,10,000
&R 62,000 50,000
A [ 42,000 24,000
Tazw A 4,000 8,000
TR 38,000 26,000
T 76,000 80,000

Calculate the cash flow from the following operating
activities. https://www.cgboardonline.com

Particular 31-03-2007 | 31-03-2008
Profit and Loss A/c. 1,20,000 1,10,000
Debtors 62,000 50,000
Outstanding Rent 42,000 24,000
Prepaid Insurance 4,000 8,000
Creditor 38,000 26,000
Goodwill 76,000 80,000

Aqar
OR

oft U et 3 31-03-2018 %) uw B3 A 7 & 50,000
w oy aifaf famm Frifas geeret & s wodees
fararait & Qg srame fararcor wargdn

4]

1~242301-A

NMIEIDRIRIIN  1enre
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P [31403-2017 [ 31-03-201%
g | 14 000 12.000
ATk st 40) (1) 1 50,000
A fm T
bbb 4,000 3,000
SR ZiF 30,000 35_wjj

year ending 31-03-2018. Prepare cash flow stat
from the following information on the basis of operatir

activities.
Particulars 31-03-2017 | 31-03-2018

Stock o0 12000
Trade Received 20000| 50,000
Prepaid Rent 3,000 3:000
QOutstanding Expenses 2,000 3.000
Trade Liabilites 30,000 35.000

w21 PR Swe & e] JIR $ AT AN -
e @ 1,00,000F.
Jrrarll H 60,000 .
i ] TR 20,000 .
g argg Wt 50,000 %.

14l

L242301-A

HINIRIITIAR 2ene
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From the following mformabon calculate cuTerk rabo-
Total Assets Rs 1,00.000
Share holder fund Rs. 60,000
Non-current habilibes Rs. 20,000
Non-current assets Rs. 50,000
FwT

OR
= gEil & o A 6 AT Y
| 3FAT 1,40,000 %.
Rl it 1,80,000 .
@R 3,000 %.
w4 1,10,000%.
Find out liquid ratio from the following information-
Current Lisbility Rs. 1,40,000
Working Capital Rs. 1,80,000
Creditors Rs. 3,000
Stock Rs. 1,10,000

Lozl NN 1o
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S . 5
gy Wmﬁﬂmtwmﬁ%%m 14
Write any four utilibes mportance of cash flow

stafement.
ST
OR
¥o% T e o & 2w g

Wiite the four obsectives of cash flow stasement.

R s 3 E T I TS w6 IS
faiRa &

Instruction: Question No. 23 1s long answer type question
it carnes 6 marks.
w23 R e & e = SR v 38 9) [1+1+1+
Explain the objectives of financial statement analysis. 1+1+1
(amy six) =6]
N
OR

fifr il & RiwT # JTTwEHAT ) SR
@5 6)

Explain any six necessities of financial statement
analysis. (any 6)

Lraz0l-A HINRINHRIE o e
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(Computer Accounting)

fidw. we wiE 18 T 19 Ay o Ia0a v & AE TH
w1 3% fafa &

Instruction: Question No. 18 and 19 are very short answer
type questions. Each question carries | mark.

wh fawe Jfe;
Choose the correct option:
T¥R-18 FOH O FA A I L - 1
(3n fertafam @ IRFA
@) FFIN @ I
First calculation machine was -
(a) Difference Engine (b) Pascal
(c) Calculator (d) Abacus
w19 R e X vt & am fofag [%+%4
Writc any two names of computer languages. =1]

% w1 i 20 A 22 9% T 3907 74 § 1RAF T W
4 3% Praifa § 7% 1@ W 1ol fAwea &

Instruction: Question No. 20 to 22 are short answer type
questions. Each question carries 4 marks. Each question
has an intemal choice.

O LT e

https://www.cgboardonline.com



(23)

w20 BTz P & vk T o ferfan) @ ) [143=4]
What is Spreadsheet? Write its uses. (any three)

FaqT
OR

Y &g Il F w5 fafag
Write the functions of database management system.

W21 FFgela i moneht & o fakad (@ TR) (141414
Write the importance of computerized accounting system 1=4
(any four)
Juan
OR

Fop iy i i wgey (e 4)
Explain main important characteristics of computer.
(any 4)
W22 T R FEGHAT ¥ SR T G (FEAR) (141414
Classify computer on its basis of efficiency. (any four) 1=4]
o
OR

U@ ST ATRAW Wit A A veet e T w R A
Srara vt &

What points are kept in mind while taking any
accounting software sourcing?

UIOLA LI o
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R T FHiF 23 AT I T N W IH R 6 Ih
faffah

Instruction: Question No. 23 is long answer type question,
it carries 6 marks.

uwR-23 e Mz e & o anwrgd) (€ 90) 6]

Explain the advantages of Data Base Management
System. (any six)

HYqT
OR

ey e R & 3 fofag @ e)
Write demerits of Data Base Management System.
(any six)

L 2 22 22 2233 2
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